NOTCRES % STRESS|ceNCE

NTRATION |

35500

NOTC

STRESS

’ i w'! ('\ -
e

4 Ll AT {'ﬂ F'=1»

(STHTIC)

DECTION H, 19 — f‘)ccve. 214

NOIC%L’:’S cen N c hheeny & 4 W ,[.'m-, h/‘é”‘J\e’r’-y‘
C‘f(‘ 3¢L¢&j‘l b C et € '5"[/‘.&**::”) C g aimf“{ﬁ"m R e
: ‘ r u The ﬂj[rr" = o5 C(J lic
E ‘! - ] .—L < (‘t(v\.cc_e / VI 5 T2 L‘f <
F\ D ! <l M r » ‘a re «er { e
i de T !m e Pl e Fa (-—!( ] ‘ M= -
‘}‘E
|
! N COMPUTE. THE
Uhom = —— <& OUWER FIBER 5TRES
__L Lé 7 /f\lgj '7“!«-(2}‘ J,{,,u/i
o Fer THE

CAlCU L ArrsNs

Wileey ‘j-lfcoss ;5 C‘&M{Ju“é‘({-

O—;fapﬁ: ch 00w

‘(/ AL,

’(\-(:; rlﬁ Coma‘bw (9(( V' OA “-'L(" @?d,ﬂ..

ﬂ(>

Whey e =z Lhe pYodiag %\{74‘3 w[}”c«\(
é{ = TM{? jnra//ﬁ/ £V 2e aﬂ v[c,., '51:5%4

A ks %]CV&IUC O()VW“ J‘la/( e /‘\ﬂﬂ?&t({}/

b = ‘l/(/’{”('\ D{)ft")-f'v-L ﬂ'[j‘ﬁ(‘a.-\((flf (1

Please /”\LW(‘C. %M,el (,<{, ¢S a/‘f!"l‘/"é’w-j low (093
e 25 M= (000 N-M
| T / 1 Tagm = /__\_A_.é
‘45 j0° Z
i | C= Vomm= , 01 m
Piwewsions jw MM R= -Lf Imm= O4Sm

ep |




35500

de FOoOmm= O30 m
- _ [ 077 B
e rr&c({ . rrC(.de) R R Thh

z '3917)(/0

b
Ke= A —-':> r=3mm= 0,003
)"'2‘5‘5 b= =823727

A= 0.9383 %

!

/Crtﬁm ﬂfﬂf“{fﬁﬁ o

D_Mw"K{-VT\oM = il ~BZ8 =

Omay = Q,L}'); /V\p"t

NOTCH SENIITIVLTS (D‘M//mwc LoapT)

\'Mal@whm{ﬁ OU)JJ(YJ 1[5 (/l‘cﬂf.-/-\/ ,‘.,a.,é, /;ﬁcp_ac"« cave

)
Teps tive '3 fress cousendraliscs, /Q Hc:ﬁl( h
G ¥ ; o Ll-c‘,x,,\‘__ € , b~ C’ /e L vt € [w" i gﬂ% o ?é] P O‘ o
e <G U‘@ e s C 3ouminvtibyang frod st

+ j -~ } [ H § b
e wtie }7 ’L;:‘f""‘ ¢ he }, / f‘f o0l ¥ Vd
L] -

;.\ : 'v{ ¢ Ce -3 e I} 1 he ‘j d? l/"( ;ﬁ:,-f &P ._/J f{" R X - é f P ‘,{'#\

L atevesqd ,' J f i/ & nou . Cra FTre Hoden
4 = _.‘:f ) ; . I
( ,f,,. {L{ pvi et “‘;-"‘1;“ " .-.va.{'f (f PN e R W i | e ! f;';f"/—;, 2
{,J : v, f £ 'Z e e i .(\ f f
"' — vatigue Tifrs 7
€2 te gudvradivan

s
< e ‘ \Cefﬁg.'{é‘f
o Kg
o e
S ‘5‘;8»({’(_ 55_"’[‘;“/‘5 oncau ‘f“ J’M*

ey By




35500 |

. & - & Cf n 4’ - 6—14 !
‘)<\f' Bl 1 B i o R AU e hppike
ke Lo 3:4-‘5:49, Jud
6 PYR S

@equ}m& / jﬂ:wiﬁ?
o= 1o (Ke-)
- ‘P (O WA chr i Mw(e:c 4

‘[“L:—k‘l&
- |.‘, ,//‘5’// "“
o Cpudid
}},ﬂ]\__‘_/ ;W¢k¢“§
WeEe Can oamaaw!e_ ' wit

fbemda‘nﬁ N'g a}:’m} ";Tfi ﬁifw\‘)

where

N

ST = 6,044 ~309C107Y) Sue +151(107°) Su*

— 2670075 S ue |

20?"‘259‘4

T& = 0.190-2,51(1071) Sut HI75 (}o’j)SQ 2,67 (16°%)Sut

SM{:' MU')J' bc’ @;ﬂg’){@gjﬂg[ m k/,?yf

N(D'll& ’k\uta,i PR (_c[‘f““ p\.ff-.-l W esmng n\ we ‘i\";‘ii ~j‘~:!.an(' S‘?u/«ff;
W@O ‘\ &'ﬂ»., q7 . in ki b e A r“r{sf_ ViR &_;,:.e.'.{, \,_/ ] Q& g:.{{i"{ﬁﬂ

et

!

NOler co u W A é K uUge < Qa“f v u/led
T KO Trew
T=Kkis Cnom

Ko el Rls sl he c/#ﬂpﬁmm-fﬁz,




35500

S YAMPLE
FVDM "\’\f"r.‘_ Previvous E’;camﬂ(e C’@VMJJLL‘IQ
We -u‘L'&ue E"auwcx-‘e»—t-% < tregsen,

cy;‘-.a»m = g f\l’\ﬁm \\ ;
pff.‘?i/;ﬁu 7 ﬁf"v_{ .g_t‘./‘--?
= 3 a1’
Rssume (e eve W 8 r by Stee !
Sut = 170 kpsi = F9¢ MPx

U\‘i‘\ﬁ,a *}'\me (_:?uw?jh}‘w.

Ta’ = 02496~ 3,05 (10‘3)&&{» +1, 5/(/0"5)5L -9'1.67(10‘”5')%

Te’ = 0.946-3.08 (167) 130 +1,51(10 ) 130" =2, 2(10%) S

Y = 0,044\

\
CCQ N v J.f’\.,e,e =) diw 4 -L )

¥ = 3mm = /& fuckes

3 = (% o448
% Z,IQ

;F:‘v*@w\ -\~\,xe. Preuimm W oV \&

(|

396

Ke = 169
R TN 1A el
Kipiee B 1S
Previteily

Thom= 378 MPa
o= k@ Oxpn = (1LLIT)(378) = 610 MPa

NOTff'x TD Ahe moteytal 9 c(Uc“h(é‘ U9 e k#, 3-0
i 15 briHle ] Uwse B!

T

hel-



35500

: Lct_a{ \f‘cpig{ft\’\a«

) No

'ff "Fhe vmcajrew-fq,(s LA CZUC'(‘”C ciuel we

e
n ol ]

[ o cee | teld Foe c,,-.f
we !de '34 A <t e @

\(-; € [c( ;WET

‘ﬂ‘(\cw_
Kom = lcQ

0‘\ (ocel ‘\?’\r@(cl%w(

. K2 \ O_me [\ £ S/
+!’\{" VA |

5y~ Kooe
Owa '

\

}\ J?M =

ﬁ)\ La\rtc Scele y}o{ch‘wz,

s & ] ‘!307 L O
(pm V"!‘L-rn.,zw (CPV‘V‘F(-/M?{{f,

I<g )waw — Tmtn| 7237/

Kpm: ]

Yow showld alwe vk
}/c‘g&?d?wﬁ? 1 ey /

AN hoge.

iy Joad

to au&fc{ f&ca(




